DJI SNAIL
Quick-Release Propeller Adapter

User Guide

fErEIReg

fErEmA
A—H—HAF

AEXE 7tolE
Bedienungsanleitung
Guia del usuario
Guide de I'utilisateur







Contents

=

(CHS)

User Guide

EF5EA

SRR

2—H—HA K
AEX7t0|=
Bedienungsanleitung
Guia del usuario

Guide de l'utilisateur

22

27

31



Disclaimer and Warning

Thank you for purchasing the DJI™ Snail series product
(hereinafter referred to as “product”).Read this
disclaimer carefully before using this product. By
using this product, you hereby agree to this disclaimer
and signify that you have read it fully. Please install
and use this product in strict accordance with the
User Guide. SZ DJI TECHNOLOGY CO., LTD. and its
affiliated companies assume no liability for damage(s)
or injuries incurred directly or indirectly from using,
installing or refitting this product improperly, including
but not limited to using non-designated accessories.

DJlis a trademark of SZ DJI TECHNOLOGY CO., LTD.
(abbreviated as “DJI") and its affiliated companies.
Names of products, brands, etc., appearing in this
document are trademarks or registered trademarks

of their respective owner companies. This product

and document are copyrighted by DJI with all rights
reserved. No part of this product or document shall be
reproduced in any form without the prior written consent
or authorization of DJI

2



This disclaimer is produced in various languages.
In the event of divergence among different versions,
the Chinese version shall prevail when the product
in question is purchased in China, and the English
version shall prevail when the product in question is
purchased in any other region.

Introduction

The Snail Quick-Release Propeller Adapter is
designed to secure Snail Quick-Release Propellers,
including 5048S Tri-Blade, 5024S, 6030S and 7027S
on the Snail 2305 Racing Motor.

In the Box
Adapterx1 Adapterx1 Screws Springx3
(cw) (CCw) (M2x4)



Assembling the Adapters

Tools Required: M2 hex key

1. Mount the spring on the axes of the motor first.

2. Align the holes on the adapter with white dots with
the holes on the CCW motors, and ensure that the
two protrusions on the bottom of the adapter are
able to insert into the two holes on the motor.Insert
the M2x4 screws and tighten to secure. Repeat to
mount the adapter without white dots on the CW
motors.




/\  Be sure to mount springs prior to mounting the
adapter, or it may impossible to secure the
adapter, affecting the assembly of the propellers.

« Ensure that all the three screws are firmly
secured.

+ Keep an eye on screws during installation and
removal.

Specifications
Weight (Single One): 0.65g

This content is subject to change.
Download the latest version from
http://www.dji.com/snail

DJlis a trademark of DJI.

Copyright © 2016 DJI All Rights Reserved.



SHO

=S

EISE DII™ Snail FEESIERMNRARTIE
(4 . E{EF Snail TBESHERM D ERRIIEF AT,
ISFRPIIRARE, —EfEM, BRI AR
BBABSHNARTINEES . RS TR EZ
PR ﬁﬁ):'ﬁzéﬁ%ﬁﬁ R M (OIEERIEE
TERY DJI EEeAF, G0: EBAL. EBIE. SRNERRSE ) AL
BOE@RK, RYIAE ™ SIFRHREIRATREX
AR TRIBIEAEE.

DJI BRI AR FHERIRA S REXATIN
iR, AHINOF=RER. RI8E, WHEREA
ERESIREEME IR, AFRRIRIIRYI AR
HEHEBIRASIRIETE . REVFR], TSLUE[R
HEHIEED.
KFFEIESRANREFEBIREFENENER,
PEPIHRE, BRI .




[0

Snail PRIFREEEE T Snall RIFLIZIER, BIF
50485 HRIF=MHEE . 50248 tRIFIE. 6030S HifFiE
R 70278 RifFE . ATFEE Snail RIFRFIZIERT
Snail 2305 FEiEFEHLE o

YRES

& % . s

FEECWX1  EEECCWx1 384 (M2x4) 38§ x3

=%
LERINEEEEATRERRRLE (M2x4) BIRF

fiRF.
1. SRR R L .



2. FtRIRIRREE . BB MR ——IFF, RATR
EERSRIREFAILUBNRH ESH0FLA, (RIER
REMEBELZRIRL . ARGRIRRRELZER
B E (FHEEREIR CCW BH, TR
XIRLCW EBHL ), TR,

SHO

/N SR FRBAAH S Ik AR
RIFREE., BNEESHAELEEE,
IR ER T

« BWHRIBLERLEET =ML E,
< RENIESD, EEEREBLEMG, UREX.




PR
B|E (1) 0659

SHO

WBINEEN, BRBITIE,
SEAILAE DJI SRS RRMEE
http://www.dji.com/snail

DJI RAFBOIRTHIEBIT

Copyright © 2016 X3BBI3T MRAREE




1HO

REESE

EEEE DI Snall BEZIERBHELR
4 TEER Snail SHEZHERBNRGRT A,
EIFHRSEAEY; B8 5
ESAEPHEIN RISETARIREZE
RREAERS . BEAETEER. §z§ X (B
JEGEFAARISRERD DIl ZEeME, W: FBIE. AR, 4R
#B5 ) EHRAYTIAK, RYIFAE ™ Al }SYEBE
AERENEATHFEE.

DJI 2RI AIEAIF R AR A S R EM B AT
IR, AHBRNERSHE. 2I8%, /N
BNSIRNEMEER . AERMRARRYIHAIEA
FEHEBRASRIERE . RG], TELUEER
HAEREED .

WAERESRANREEREMESR, PELIFIR
A, HitiEEREERAE,




i

Snail tRIFIEIZAED AR Snail RIFIRHESE, BIF
50488 tRIF=2E4E, 50248 HifHE, 6030S HRIFIER
7027S HiRE. ARG Snail tRIFRRIIZFEIREIER
Snail 2305 FHEBIE L

ManEE

= &

SEEECW x 1 3EEECCW x 1 82K M2 x 4 85 x 3

7
RER, FEREAREERTEES M2 x 4) BN
75

FIRF o
1. RS L,

1HO



2. AStRIREREREE . i EMOREEF — ¥, RIS
LSS RE 75 AR F i\ ET5R07Lm, LURE
{REBR= @?Léﬁa?&%ﬂ?‘% EEERIRERER
5 (HERBMEEEE CCW HiE, &

1HO

A -%%%%QZ\E%%%E%E;(% SEw E18, )
T RRIRESEE . BASEENEE
/ilﬁlmz SAABHOIRTRIRE R
« EIBLHERIZS O T LEEN = BRIl E .
« RENBIESD, BEZERERGEM, URiE%.




ERRE
H= (@) 0659

1HO

RBINEEN, BRBTEN,
SEATE TSUMEL TR RATARA
http://www.dji.com/snail

DJI 2ARIBAIFRARER.

Copyright © 2016 XSBRIFT MRAEFTE




REFESIUES
DJI™ Snail ') — X B (U T IAHRIEVVES) %
‘_ESJ\L\KK%&BUD\&') “ft‘i?‘u K%uu@fiﬁﬁ

‘(
FEELfeLdaEnEd, FERIE 1— *7’*71/( Rl
SCE T HEBVITERIMIIT TR LTLIZE L, SZ DJI
TECHNOLOGY CO., LTD. &Z DBS:ERHHE, A8
DARBEEER R S HMER GEEN DT/
HU—DFEEEEHNEENET) ICLY EFEE IR
BNGERE CECTMBE S T E ABHEEIC DL
TWDHEEHEELEVEEA,
DJI (&, SZ DJI TECHNOLOGY CO., LTD. (B&LCDJI)
BLUZDEBERHOEIFECY ABICRRHEINTL
DR, T TV P EEDRINL, T OFTESE THhER
OEIEEISEREITC T, ARRBLUARIL R
S SRR A RIS T D DI DD
DUl ho& kJ:é%au%ﬁ?tbiﬁ.ﬁ%ﬁ%;tf—
(ABREIEDVDEDERD G WHEEHE
(Lo THIRM T HTLREICRELSNTVET,




CORERAERDSATIREN TV ET. &S

SERONBIAEEAN BB B, PEIC THATNR

ST OV TEREBROAANMEBLE M. i
TEBAENRRIT OV TEEERONBNMEE SN
EXD

I3l
Snail 7 w7 —R-FARST L T2~ Snail 7
Av1)—=Z-FANRS (50488 kT L — K. 50245,

6030S, 70275 %) %Snail 2305 L —ZBE—42—ICE
ET Bl ENTVET.

%%ﬁg

TETE— 118 TETE— 1 XY AIv73@
cw) (ccw) (M2x4)




TETE2—DEBI

WELTEIM2 SEBLYF

1 ETE—L—OBICRAT I ERIMTES,

2. BAfEDT L T2—D7V% COW E—2—D7RIT
EBOECTETE—ERD 2 DOZEREE—F—
D 2 DOTUCHERITIBALE T M2X4 XIZHA
LT LoD ERDIFITET, FfkIc. BADENT
AT 2—% CW E—2—ICRIHFIFET,




A\« TETE—BRURIEIC AT AT VI EER
I TLREEW, ZSLENETET2—H
BTN TORSOBISH R EERIE
FTTENBIUET,

«3KD Lo WSS NTLSTE
AHEBLTEL,
« A3 BRUS LOBIE 2T DEEIIRLNT

TERBIEE

g
EE (851 0659

FABREEENBTENBIET,
BRI FRELDSS>0- FLTEEL
http://www.dji.com/snail

DUl 14 DJI DFFHETT.

Copyright © 2016 DJI All Rights Reserved.



IX| AFE R Zn

DJI™ Snail HZ2E FoisH FMA ZARBILICE (2 FRI= 0]
F HE 2 AZELICL) 2 MES ALBs17| Hoj| 2 2M
Of IX| ABt2 Fo| 2| 2l0] FHAIR. 2 HES A8dt=
2 0] X MBl0l| S5t BE LHES 2 Aoz 2F
EILICE BHEA] AFAH HRAMo] w2t MBS MX[5t1 At8St
A2, SZ DJI TECHNOLOGY CO, LTD.2} 3l Rf&|AS X|
HE|X| g2 AM|ARIe] ALES EBHEL, ofof| =EtE(X| 843)
5101 KB LAIHEH ALG, MX| Ei= |2 Qloh AT E=
HHoR Wilsh= &al 3 R4l st ofm st el X|X|
&Lk

DJIi= SZ DJI TECHNOLOGY CO, LTD. (2f0{= “DII")2} 3l
Az|Are| SELICE O] BA0f| EAIE HIF 0I5, 2= 0]
S S2al ARAIL| M £ S2 AHQLICLDI= 2 H
1t A0 AfH B 2E HstS BRELICL 2 HF
= MYAQ| ofH REE DS M 5171 £ 52 g0] 0f
i HAORE TYHE 4 gL



O] | MBI Clerst 91012 NBEILICE A2 CIE biE 2+
oll $0|0] 9i2 72, E0lM HZ 704 Al 520f t{zlo]
2Mx02 Hgeln! 7|et KoM HE 7o) Al Fof o]
opixoR HgEL

294

Snail 2| 2l2|x Z2U2] OfHEl= Snail 2| o= Z2Y
2{(50485 E2}0| 22{0|=, 50245, 60305 X 70275 S)=
Snail 2305 20|14 DE{0] DHEY| 9I8t 82 HAEIUE
Lck

24E

&

OfeElx1 OfeElx1 LIAL AEX3
w) (ccw) (M2x4)




OfHE| =3

Zest = M2 82 7|

Tx| @E 0| An2s FHAFL|CH

2. 214 FHo| 2l ofgEf o] Pyt CCwW 26 FYS ECH
S, OIE] 3iEto| Rl = 7Ho| &9t RE| 7Y £ Y
Off M| =2 BHLICE M2x4 LIAMS €10 20§ DL
0| Y BH=310] B4 Ho| gli= OIHEIE CwW =E{o|
FEBhLICL

Bv

—7




A\ +OfEEIS TSP | T Am2iS HARO} BiLICL
JER| pfon OfHE7F nYe|X| oot m2ERf &
2oll F&ks 0lE =+ QlELch
o LIAF3VHE 2 £hets| DYSHIAIR
o HX| LA £F LIS B 2RI

M
A

5 3iLh): 0.65¢

Ol 242 LIS AHEX| HHE 4 ABLICH
M HE2 TS Y AIENM CHREESHIAIR
http://www.dji.com/snail

DJI 2 DJio] HERILICE

Copyright © 2016 DJI All Rights Reserved.



Haftungsausschluss und Warnhinweis

Vielen Dank fiir Ihren Kauf eines Produkts der Serie
DJI™ Snail (im Folgenden als ,Produkt” bezeichnet).
Lesen Sie sich diesen Haftungsausschluss
aufmerksam durch, bevor Sie dieses Produkt
verwenden. Mit der Verwendung dieses Produkts
bestatigen Sie, dass Sie diesen Haftungsausschluss
vollstandig gelesen haben und diesem zustimmen.
Installieren und verwenden Sie dieses Produkt unter
strikter Beachtung der Bedienungsanleitung. Die SZ
DJI TECHNOLOGY CO., LTD., und ihre verbundenen
Unternehmen tibernehmen keine Haftung fr Schaden
oder Verletzungen, die direkt oder indirekt aus
unsachgemaBer Nutzung, Montage oder Neumontage
dieses Produkts entstehen, einschlieBlich, der
Verwendung von nicht vorgesehenem Zubehor.

DJl ist eine Marke der SZ DJI TECHNOLOGY CO.,
LTD. (kurz DJI) und seiner verbundenen Unternehmen.
Namen von Produkten, Marken, usw., die in diesem
Dokument enthalten sind, sind Warenzeichen

oder eingetragene Warenzeichen der jeweiligen

2



Besitzer. Dieses Produkt und dieses Dokument sind
urheberrechtlich geschtitztes Eigentum von DJI und
alle Rechte sind vorbehalten. Kein Teil dieses Produkts
oder Dokuments darf in irgendeiner Form ohne die
vorherige schriftliche Zustimmung oder Genehmigung
durch DJI reproduziert werden.

Dieser Haftungsausschluss existiert in verschiedenen
Sprachen. Im Falle von Abweichungen zwischen den
verschiedenen Versionen ist die chinesische Version
maBgeblich, wenn das fragliche Produkt in China
erworben wurde, bzw. die englische Version, wenn
das fragliche Produkt in anderen Regionen erworben
wurde.

Einleitung

Der Snail Schnellverschluss-Propelleradapter

dient der Sicherung von Snail Schnellverschluss-
Propellern einschlieBlich der Modelle 5048S mit drei
Rotorbléttern, 5024S, 6030S und 70278 am Snail
2305 Rennmotor.



Lieferumfang

Adapterxi Adapterxi Schrauben  Federx3
(Cw) (Ccw) (M2x4)

Zusammenbauen der Adapter

Benétigte Werkzeuge: M2-Innensechskantschlissel

1. Zuerst die Feder auf die Achsen des Motors
montieren.

Richten Sie die Bohrungen des Adapters mit weiBen
Punkten auf die Bohrungen der CCW-Motoren aus,
und stellen Sie sicher, dass sich die beiden an der
Unterseite des Adapters hervorstehenden Elemente
in die beiden Bohrungen am Motor einfihren
lassen. Setzen Sie die M2x4-Schrauben ein, und
ziehen Sie sie fest, um die Verbindung zu sichern
Wiederholen Sie die Schritte, um den Adapter ohne
weiBe Punkte an den CW-Motoren zu befestigen.

o



& + Achten Sie darauf, vor der Montage des
Adapters Federn anzubringen, anderenfalls
ist es nicht méglich, den Adapter zu sichern,
was den Zusammenbau der Propeller
verhindert.

« Achten Sie darauf, alle drei Schrauben fest
anzuziehen.

« Achten Sie bei Montage und Ausbau auf die
Schrauben.




Technische Daten
Gewicht (Einzelgewicht): 0,65 g

Anderungen vorbehalten

Die aktuelle Fassung finden Sie unter
http://www.dji.com/snail

DJlist eine Marke von DJI.

Copyright © 2016 DJI Alle Rechte vorbehalten



Renuncia de responsabilidad
y advertencia

Gracias por adquirir este producto de la serie DJI™
Snail (en lo sucesivo denominado el "producto”). Lea
detenidamente esta renuncia de responsabilidad antes
de utilizar este producto. Al utilizar este producto,
manifiesta su conformidad con esta clausula de
renuncia de responsabilidad y confirma que la ha

leido completamente. Instale y utilice este producto

en estricta conformidad con las instrucciones de

la Guia del usuario. SZ DJI TECHNOLOGY CO.,

LTD. y sus empresas filiales no asumen ninguna
responsabilidad por dafios o lesiones causados directa
o indirectamente por un uso, instalacién o montaje
deficiente del producto, incluido el uso de accesorios
no designados.

DJI es una marca comercial de SZ DJI TECHNOLOGY
CO., LTD. (abreviada como “DJI") y sus empresas
afiliadas. Los nombres de productos, marcas, etc., que
aparecen en este documento son marcas comerciales
0 marcas comerciales registradas de sus respectivas
empresas propietarias. Este producto y el documento
estan protegidos por los derechos de autor de DJI

con todos los derechos reservados. No se permite



la reproduccion total ni parcial de este documento o
producto en forma alguna sin el consentimiento previo
por escrito o la autorizacion de DJI.

Esta renuncia se proporciona en diversos idiomas. En
el caso de que haya divergencias entre las diferentes
versiones, prevalecera la versién en chino simplificado
si el producto en cuestion se ha comprado en China.
La versioén inglesa prevaleceré si el producto en
cuestion se ha adquirido en cualquier otra region.

Introduccién

El Adaptador de Hélice de Liberacion Répida Snail esta
disefiado para fijar Hélices de Liberacién Rapida Snail,
como 50488 de Tres Palas, 50245, 6030S y 70278, al
Motor de Carreras Snail 2305.

Contenido del embalaje

7 &

Adaptador x1  Adaptador x1  Tornilos ~ Muelle x3
(W) (ccw) (M2 xd)

28



Instalacion de los adaptadores

Herramientas necesarias: Llave hexagonal M2

1. Monte primero el muelle en el eje del motor.

2. Alinee los orificios del adaptador con puntos
blancos con los orificios de los motores CCW, y
asegurese de que los dos salientes del fondo del
adaptador se pueden insertar en los dos orificios
del motor. Introduzca los tornillos M2x4 y apriete
para afianzarlo. Repita el proceso para montar el
adaptador sin puntos blancos en los motores CW.




& * Asegurese de que monta los muelles antes
que el adaptador; de lo contrario, puede
resultar imposible fijar el adaptador, lo que
afectaria al montaje de las hélices.

* Asegurese de que los tres tornillos quedan
bien apretados.

* Lleve cuenta de los tornillos durante la
instalacion y el desmontaje.

Especificaciones
Peso (unidad): 0,65 g

Contenido sujeto a cambios.
Descargue la ultima version en
http://www.dji.com/snail

DJI es una marca comercial de DJI

Copyright © 2016 DJI Todos los Derechos Reservados



Clause d'exclusion de responsabilité
et mise en garde

Merci d'avoir acheté un produit de la série DJI™ Snail
(ci-aprés dénommé le « produit »). Lisez attentivement
la présente clause d'exclusion de responsabilité

avant d'utiliser ce produit. En utilisant ce produit,

vous acceptez la présente clause d'exclusion de
responsabilité et confirmez I'avoir lue dans son
intégralité. Installez et utilisez ce produit conformément
au guide de I'utilisateur. SZ DJI TECHNOLOGY

CO., LTD. et ses sociétés affiliées déclinent toute
responsabilité en cas de dommage ou de blessure
causé(e) directement ou indirectement par I'utilisation,
l'installation ou le remontage incorrect(e) de ce
produit, y compris mais sans s'y limiter, I'utilisation
d'accessoires non autorisés.

DJI est une marque commerciale de SZ DJI
TECHNOLOGY CO., LTD. (abrégée en « DJI »)

et de ses sociétés affiliées. Les noms de produits,

de marques, etc., apparaissant dans le présent
document sont des marques commerciales ou des
marques déposées de leurs détenteurs respectifs. Ce
produit et le présent document sont la propriété de
DJI, tous droits réservés. Aucune partie de ce produit

31



ou du présent document ne peut étre reproduite sous
quelque forme que ce soit sans |'autorisation ou le
consentement écrit préalable de DJI

La présente clause d'exclusion de responsabilité est
traduite dans plusieurs langues. En cas de divergence
entre les différentes versions, la version chinoise
prévaudra si le produit concerné a été acheté en
Chine et la version anglaise prévaudra si le produit
concerné a été acheté dans toute autre région.

Introduction

L'adaptateur d'hélice & démontage rapide Snail est
congu pour fixer les hélices a démontage rapide Snail
(hélices 5048S Tri-Blade et hélices 50245, 6030S et
70278) sur le moteur Snail 2305 Racing.

Contenu de I'emballage

& &, 8

Adaptateur x 1 Adaptateurx 1 Vis  Ressort x 3
cw) (ccw) (M2 x 4)



A

blage des ad: Irs

P

Qutils nécessaires : clé hexagonale M2

1. Placez le ressort sur les axes du moteur.

2. Alignez les trous de I'adaptateur marqué de
points blancs et les trous des moteurs CCW,
puis vérifiez que les deux protubérances situées
sous I'adaptateur s'insérent dans les deux trous
du moteur. Insérez les vis M2 x 4 et serrez-les
fermement. Répétez la méme opération avec
I'adaptateur non marqué de points blancs sur les
moteurs CW.




]

« N'oubliez pas de placer les ressorts avant
de fixer I'adaptateur, sans quoi il vous sera
impossible de sécuriser I'adaptateur et de
fixer correctement les hélices.

« Vérifiez que les trois vis sont fermement
serrées.

« Prenez garde de ne pas égarer les vis lors de
l'installation et du démontage.

Caractéristiques techniques
Poids (une unité) : 0,65 g

Contenu sujet & modifications.
Téléchargez la derniére version & 'adresse
hittp://www.dji.com/snail

DJI est une marque commerciale de DJI
Copyright © 2016 DJI Tous droits réservés.






DJI Support
DJI AR

DJI TR

DJI Y=

DJI 224X

DJI Support

Servicio de asistencia de DJI
Service client DJI

http://www.dji.com/support






ce &

If you have any questions about this document,
please contact DJI by sending a message to
DocSupport@dji.com.

RD;% ijt&lﬂﬂ-ﬁﬁ&ﬂﬁﬂjLux BTN prea in Crina
om,  EE




